

ON LIE DERIVATIONS OF TRIANGULAR ALGEBRAS

LEI LIU*, KAIPENG LI

ABSTRACT. Let \mathcal{T} be a triangular algebra and $G \in \mathcal{T}$ be an arbitrary but fixed point. We say that a linear map $\phi : \mathcal{T} \rightarrow \mathcal{T}$ is Lie derivable at G if $\phi([S, T]) = [\phi(S), T] + [S, \phi(T)]$ for any $S, T \in \mathcal{T}$ with $ST = G$. In this paper, we describe the general form of ϕ and give some necessary and sufficient conditions for ϕ to be proper. These results are then applied to nest algebras.

1. INTRODUCTION

Let \mathcal{A} be an associative algebra over a field \mathbb{F} . A linear map $\delta : \mathcal{A} \rightarrow \mathcal{A}$ is called a derivation if $\delta(ST) = \delta(S)T + S\delta(T)$ for all $S, T \in \mathcal{A}$. Derivations are very important maps both in theory and applications, and have been studied intensively (for example, see [5, 9, 18, 19, 20] and references therein). In recent years the problem under which conditions that a linear map becomes a derivation has attracted many mathematicians' attention. One direction in the study of this problem is to characterize derivable maps at a given point. We say that a linear map $\delta : \mathcal{A} \rightarrow \mathcal{A}$ is derivable at $G \in \mathcal{A}$ if $\delta(ST) = \delta(S)T + S\delta(T)$ for all $S, T \in \mathcal{A}$ with $ST = G$. It is obvious that the condition of δ being a derivable map at G is weaker than the condition of being a derivation. For some algebras, the cases that G is zero, the unit, nontrivial idempotents, invertible elements, and so on were discussed by several authors (for example, refer to [1, 2, 12, 13, 15, 17, 22] and the references therein). These results enhanced people's understanding of derivations on several algebras.

More generally, a linear map $\phi : \mathcal{A} \rightarrow \mathcal{A}$ is called a Lie derivation if $\phi([S, T]) = [\phi(S), T] + [S, \phi(T)]$ for all $S, T \in \mathcal{A}$, here $[S, T] = ST - TS$ is the usual Lie product and is said to be Lie derivable at $G \in \mathcal{A}$ if $\phi([S, T]) = [\phi(S), T] + [S, \phi(T)]$ for all $S, T \in \mathcal{T}$ with $ST = G$. Ji and Qi in [11] proved that, under some mild conditions, if a linear map ϕ from a triangular algebra \mathcal{T} into itself is Lie derivable at 0 (resp. a standard idempotent $P \in \mathcal{T}$), then ϕ is proper, that is, $\phi = \varphi + \tau$, where φ is a derivation of \mathcal{T} and τ is a linear map from \mathcal{T} into the center of \mathcal{T} vanishing on each commutator $[S, T]$ whenever $ST = 0$ (resp. $ST = P$). Lu and Jing [14] showed that the same is true for Lie derivable maps of $B(X)$, where $B(X)$ is the algebra of all bounded linear operators on a Banach space X of dimension greater than 2. There are similar results on generalized matrix algebras and prime rings (see [8, 16]). But, so far, to the best of our knowledge there have been no papers on the study of Lie derivable maps at a given point

Date: Received: xxxxxx; Revised: yyyyyy; Accepted: zzzzzz.

* Corresponding author.

2020 *Mathematics Subject Classification.* Primary: 47B47; Secondary: 47L35, 16W25.

Key words and phrases. Derivation; Lie derivation; Triangular algebra; Nest algebra.

which is not 0 or a standard idempotent. So the purpose of the present paper is to characterize Lie derivable maps of triangular algebras at an arbitrary but fixed point.

Triangular algebras were firstly introduced in [6] and then studied by many authors (see, for example, [3, 4, 7, 21]). Let \mathcal{A} and \mathcal{B} be two unital algebras with unit I_1 and I_2 , respectively. Let \mathcal{M} be an $(\mathcal{A}, \mathcal{B})$ -bimodule, which is faithful as a left \mathcal{A} -module and also as a right \mathcal{B} -module, that is, for any $a \in \mathcal{A}$ and $b \in \mathcal{B}$, $a\mathcal{M} = \{0\}$ and $\mathcal{M}b = \{0\}$ imply $a = 0$ and $b = 0$, respectively. The algebra

$$\mathcal{T} = Tri(\mathcal{A}, \mathcal{M}, \mathcal{B}) = \left\{ \begin{pmatrix} a & m \\ 0 & b \end{pmatrix} : a \in \mathcal{A}, m \in \mathcal{M}, b \in \mathcal{B} \right\},$$

under the usual matrix operations is called a triangular algebra. The non-trivial idempotent element $P = \begin{pmatrix} I_1 & 0 \\ 0 & 0 \end{pmatrix}$ is said to be the standard idempotent of \mathcal{T} . It follows from Proposition 3 in [6] that the center of \mathcal{T} is

$$\mathcal{Z}(\mathcal{T}) = \left\{ a \oplus b = \begin{pmatrix} a & 0 \\ 0 & b \end{pmatrix} \mid am = mb \text{ for all } m \in \mathcal{M} \right\}.$$

Define two projections $\pi_{\mathcal{A}} : \mathcal{T} \rightarrow \mathcal{A}$ and $\pi_{\mathcal{B}} : \mathcal{T} \rightarrow \mathcal{B}$ by

$$\pi_{\mathcal{A}} \begin{pmatrix} a & m \\ 0 & b \end{pmatrix} = a \text{ and } \pi_{\mathcal{B}} \begin{pmatrix} a & m \\ 0 & b \end{pmatrix} = b.$$

Then $\pi_{\mathcal{A}}(\mathcal{Z}(\mathcal{T})) \subseteq \mathcal{Z}(\mathcal{A})$ and $\pi_{\mathcal{B}}(\mathcal{Z}(\mathcal{T})) \subseteq \mathcal{Z}(\mathcal{B})$. Furthermore, there exists an unique algebra isomorphism $\eta : \pi_{\mathcal{A}}(\mathcal{Z}(\mathcal{T})) \rightarrow \pi_{\mathcal{B}}(\mathcal{Z}(\mathcal{T}))$ such that $am = m\eta(a)$ for every $a \in \mathcal{A}$, $m \in \mathcal{M}$.

2. RESULT AND PROOF

In this section, we consider the question of characterizing Lie derivable maps of triangular algebras at an arbitrary but fixed point. Firstly, we describe the general forms of these maps as following.

Theorem 2.1. *Let $\mathcal{T} = Tri(\mathcal{A}, \mathcal{M}, \mathcal{B})$ be a triangular algebra and $G = \begin{pmatrix} a_0 & m_0 \\ 0 & b_0 \end{pmatrix}$*

be an arbitrary but fixed point in \mathcal{T} . Assume that

(i) $\pi_{\mathcal{A}}(\mathcal{Z}(\mathcal{T})) = \mathcal{Z}(\mathcal{A})$ and $\pi_{\mathcal{B}}(\mathcal{Z}(\mathcal{T})) = \mathcal{Z}(\mathcal{B})$;

(ii) For every $a \in \mathcal{A}$, there exists some integer n such that $nI_1 - a$ is invertible in \mathcal{A} ;

(iii) For every $b \in \mathcal{B}$, there exists some integer n such that $nI_2 - b$ is invertible in \mathcal{B} .

If a linear map $\phi : \mathcal{T} \rightarrow \mathcal{T}$ is Lie derivable at G , then ϕ is of the form

$$\phi \begin{pmatrix} a & m \\ 0 & b \end{pmatrix} = \begin{pmatrix} f_{11}(a) + g_{11}(m) + h_{11}(b) & af_{12}(I_1) - f_{12}(I_1)b + g_{12}(m) \\ 0 & f_{22}(a) + g_{22}(m) + h_{22}(b) \end{pmatrix},$$

where

$$\begin{aligned} f_{11} : \mathcal{A} &\rightarrow \mathcal{A}, \quad f_{12} : \mathcal{A} \rightarrow \mathcal{M}, \quad f_{22} : \mathcal{A} \rightarrow \mathcal{Z}(\mathcal{B}), \quad g_{11} : \mathcal{M} \rightarrow \mathcal{Z}(\mathcal{A}), \\ g_{12} : \mathcal{M} &\rightarrow \mathcal{M}, \quad g_{22} : \mathcal{M} \rightarrow \mathcal{Z}(\mathcal{B}), \quad h_{11} : \mathcal{B} \rightarrow \mathcal{Z}(\mathcal{A}), \quad h_{22} : \mathcal{B} \rightarrow \mathcal{B} \end{aligned}$$

are linear maps satisfying the following conditions:

- (1) $f_{12}(a) = af_{12}(I_1)$ for all $a \in \mathcal{A}$;
- (2) $f_{11}(I_1) \in \mathcal{Z}(\mathcal{A})$, $h_{22}(I_2) \in \mathcal{Z}(\mathcal{B})$;
- (3) $g_{12}(am) = ag_{12}(m) + f_{11}(a)m - mf_{22}(a) + h_{11}(I_2)am - amh_{22}(I_2)$ for all $m \in \mathcal{M}$ and $a \in \mathcal{A}$;
- (4) $g_{12}(mb) = g_{12}(m)b + mh_{22}(b) - h_{11}(b)m + mbf_{22}(I_1) - f_{11}(I_1)mb$ for all $m \in \mathcal{M}$ and $b \in \mathcal{B}$.

We need the following basic fact whose proof is easy and will be skipped.

Proposition 2.2. *Let H be a vector space over a number field \mathbb{F} . For any fixed $h_i \in H$, $i = 0, \pm 1, \pm 2, \dots, \pm n$, if $\sum_{i=-n}^n h_i x^i = 0$, $x \in \mathbb{F}$, has at least $2n + 1$ distinct nonzero solutions in \mathbb{F} , then $h_i = 0$, $i = 0, \pm 1, \pm 2, \dots, \pm n$.*

Proof of Theorem 2.1. Since ϕ is a linear map, we can write

$$\phi \begin{pmatrix} a & m \\ 0 & b \end{pmatrix} = \begin{pmatrix} f_{11}(a) + g_{11}(m) + h_{11}(b) & f_{12}(a) + g_{12}(m) + h_{12}(b) \\ 0 & f_{22}(a) + g_{22}(m) + h_{22}(b) \end{pmatrix}$$

for all $\begin{pmatrix} a & m \\ 0 & b \end{pmatrix} \in \mathcal{T}$, where f_{11}, f_{12}, f_{22} are linear maps from \mathcal{A} to $\mathcal{A}, \mathcal{M}, \mathcal{B}$, respectively; g_{11}, g_{12}, g_{22} are linear maps from \mathcal{M} to $\mathcal{A}, \mathcal{M}, \mathcal{B}$, respectively; h_{11}, h_{12}, h_{22} are linear maps from \mathcal{B} to $\mathcal{A}, \mathcal{M}, \mathcal{B}$, respectively.

Now we organize the proof in a series of claims

Claim 1. *For any $a \in \mathcal{A}$ and $b \in \mathcal{B}$, the following statements hold:*

- (i) $h_{12}(b) = -f_{12}(I_1)b$;
- (ii) $f_{12}(a) = af_{12}(I_1)$.

For any invertible $b \in \mathcal{B}$ and any real number $\lambda > 0$, let

$$S = \begin{pmatrix} I_1 & 0 \\ 0 & \lambda b_0 b^{-1} \end{pmatrix}, \quad T = \begin{pmatrix} a_0 & m_0 \\ 0 & \lambda^{-1} b \end{pmatrix}.$$

Then $ST = G$, and we have

$$\begin{aligned} & \begin{pmatrix} * & g_{12}(m_0 - \lambda m_0 b_0 b^{-1}) + h_{12}(b_0 - b b_0 b^{-1}) \\ 0 & * \end{pmatrix} \\ &= \phi(ST - TS) \\ &= \phi(S)T - T\phi(S) + S\phi(T) - \phi(T)S \\ &= \begin{pmatrix} f_{11}(I_1) + h_{11}(\lambda b_0 b^{-1}) & f_{12}(I_1) + h_{12}(\lambda b_0 b^{-1}) \\ 0 & f_{22}(I_1) + h_{22}(\lambda b_0 b^{-1}) \end{pmatrix} \begin{pmatrix} a_0 & m_0 \\ 0 & \lambda^{-1} b \end{pmatrix} \\ &\quad - \begin{pmatrix} a_0 & m_0 \\ 0 & \lambda^{-1} b \end{pmatrix} \begin{pmatrix} f_{11}(I_1) + h_{11}(\lambda b_0 b^{-1}) & f_{12}(I_1) + h_{12}(\lambda b_0 b^{-1}) \\ 0 & f_{22}(I_1) + h_{22}(\lambda b_0 b^{-1}) \end{pmatrix} \\ &\quad + \begin{pmatrix} I_1 & 0 \\ 0 & \lambda b_0 b^{-1} \end{pmatrix} \\ &\quad \cdot \begin{pmatrix} f_{11}(a_0) + g_{11}(m_0) + h_{11}(\lambda^{-1} b) & f_{12}(a_0) + g_{12}(m_0) + h_{12}(\lambda^{-1} b) \\ 0 & f_{22}(a_0) + g_{22}(m_0) + h_{22}(\lambda^{-1} b) \end{pmatrix} \\ &\quad - \begin{pmatrix} f_{11}(a_0) + g_{11}(m_0) + h_{11}(\lambda^{-1} b) & f_{12}(a_0) + g_{12}(m_0) + h_{12}(\lambda^{-1} b) \\ 0 & f_{22}(a_0) + g_{22}(m_0) + h_{22}(\lambda^{-1} b) \end{pmatrix} \end{aligned}$$

$$\cdot \begin{pmatrix} I_1 & 0 \\ 0 & \lambda b_0 b^{-1} \end{pmatrix} = \begin{pmatrix} * & \Delta \\ 0 & * \end{pmatrix},$$

where

$$\begin{aligned} \Delta = & (f_{11}(I_1) + h_{11}(\lambda b_0 b^{-1}))m_0 + (f_{12}(I_1) + h_{12}(\lambda b_0 b^{-1}))(\lambda^{-1}b) + f_{12}(a_0) \\ & - a_0(f_{12}(I_1) + h_{12}(\lambda b_0 b^{-1})) - m_0((f_{22}(I_1) + h_{22}(\lambda b_0 b^{-1})) + g_{12}(m_0) \\ & + (h_{12}(\lambda^{-1}b) - (f_{12}(a_0) + g_{12}(m_0) + h_{12}(\lambda^{-1}b)))(\lambda b_0 b^{-1}). \end{aligned}$$

It follows from the matrix equation that

$$\begin{aligned} & g_{12}(m_0 - \lambda m_0 b_0 b^{-1}) + h_{12}(b_0 - b b_0 b^{-1}) \\ & = (f_{11}(I_1) + h_{11}(\lambda b_0 b^{-1}))m_0 + (f_{12}(I_1) + h_{12}(\lambda b_0 b^{-1}))(\lambda^{-1}b) + f_{12}(a_0) \\ & - a_0(f_{12}(I_1) + h_{12}(\lambda b_0 b^{-1})) - m_0((f_{22}(I_1) + h_{22}(\lambda b_0 b^{-1})) + g_{12}(m_0) \\ & + (h_{12}(\lambda^{-1}b) - (f_{12}(a_0) + g_{12}(m_0) + h_{12}(\lambda^{-1}b)))(\lambda b_0 b^{-1}). \end{aligned}$$

By Proposition 2.2, the above equality implies that $f_{12}(I_1)b + h_{12}(b) = 0$ for all invertible $b \in \mathcal{B}$. For any $b \in \mathcal{B}$, by assumption (iii) of the theorem, there exists an integer n such that $nI_2 - b$ is invertible in \mathcal{B} . It follows from the previous fact that $f_{12}(I_1)(nI_2 - b) + h_{12}(nI_2 - b) = 0$ for all $b \in \mathcal{B}$. Then we have

$$f_{12}(I_1)b + h_{12}(b) = 0 \quad (2.1)$$

for all $b \in \mathcal{B}$.

Moreover, for any invertible $a \in \mathcal{A}$ and any real number $\lambda > 0$, repeating the similar argument and considering

$$S = \begin{pmatrix} \lambda a & m_0 \\ 0 & b_0 \end{pmatrix}, \quad T = \begin{pmatrix} \lambda^{-1}a^{-1}a_0 & 0 \\ 0 & I_2 \end{pmatrix}.$$

one can get

$$f_{12}(a) + ah_{12}(I_2) = 0 \quad (2.2)$$

for all $a \in \mathcal{A}$. Taking $b = I_2$ in Eq.(2.1), we have $h_{12}(I_2) = -f_{12}(I_1)$. Combining this and Eq.(2.2), we obtain that

$$f_{12}(a) = af_{12}(I_1)$$

for all $a \in \mathcal{A}$. The proof of the claim is completed.

Claim 2. We have the following:

- (i) $h_{11}(b) \in \mathcal{Z}(\mathcal{A})$ for all $b \in \mathcal{B}$;
- (ii) $f_{22}(a) \in \mathcal{Z}(\mathcal{B})$ for all $a \in \mathcal{A}$.

Taking

$$S = \begin{pmatrix} \lambda a & 0 \\ 0 & \lambda^{-1}b_0 b^{-1} \end{pmatrix}, \quad T = \begin{pmatrix} \lambda^{-1}a^{-1}a_0 & \lambda^{-1}a^{-1}m_0 \\ 0 & \lambda b \end{pmatrix},$$

where $a \in \mathcal{A}$, $b \in \mathcal{B}$ are invertible and $\lambda > 0$, we get $ST = G$. Hence we have

$$\begin{aligned} & \begin{pmatrix} \Delta_1 & * \\ 0 & \Delta_2 \end{pmatrix} \\ & = \phi(ST - TS) \\ & = \phi(S)T - T\phi(S) + S\phi(T) - \phi(T)S \end{aligned}$$

$$\begin{aligned}
&= \begin{pmatrix} f_{11}(\lambda a) + h_{11}(\lambda^{-1}b_0b^{-1}) & f_{12}(\lambda a) + h_{12}(\lambda^{-1}b_0b^{-1}) \\ 0 & f_{22}(\lambda a) + h_{22}(\lambda^{-1}b_0b^{-1}) \end{pmatrix} \begin{pmatrix} \lambda^{-1}a^{-1}a_0 & \lambda^{-1}a^{-1}m_0 \\ 0 & \lambda b \end{pmatrix} \\
&- \begin{pmatrix} \lambda^{-1}a^{-1}a_0 & \lambda^{-1}a^{-1}m_0 \\ 0 & \lambda b \end{pmatrix} \begin{pmatrix} f_{11}(\lambda a) + h_{11}(\lambda^{-1}b_0b^{-1}) & f_{12}(\lambda a) + h_{12}(\lambda^{-1}b_0b^{-1}) \\ 0 & f_{22}(\lambda a) + h_{22}(\lambda^{-1}b_0b^{-1}) \end{pmatrix} \\
&+ \begin{pmatrix} \lambda a & 0 \\ 0 & \lambda^{-1}b_0b^{-1} \end{pmatrix} \\
&\cdot \begin{pmatrix} f_{11}(\lambda^{-1}a^{-1}a_0) + g_{11}(\lambda^{-1}a^{-1}m_0) + h_{11}(\lambda b) & * \\ 0 & f_{22}(\lambda^{-1}a^{-1}a_0) + g_{11}(\lambda^{-1}a^{-1}m_0) + h_{11}(\lambda b) \end{pmatrix} \\
&- \begin{pmatrix} f_{11}(\lambda^{-1}a^{-1}a_0) + g_{11}(\lambda^{-1}a^{-1}m_0) + h_{11}(\lambda b) & * \\ 0 & f_{22}(\lambda^{-1}a^{-1}a_0) + g_{11}(\lambda^{-1}a^{-1}m_0) + h_{11}(\lambda b) \end{pmatrix} \\
&\cdot \begin{pmatrix} \lambda a & 0 \\ 0 & \lambda^{-1}b_0b^{-1} \end{pmatrix} \\
&= \begin{pmatrix} \Delta_3 & * \\ 0 & \Delta_4 \end{pmatrix},
\end{aligned}$$

where

$$\begin{aligned}
\Delta_1 &= f_{11}(a_0 - a^{-1}a_0a) + g_{11}(m_0 - \lambda^{-2}a^{-1}m_0b_0b^{-1}) + h_{11}(b_0 - bb_0b^{-1}), \\
\Delta_2 &= f_{22}(a_0 - a^{-1}a_0a) + g_{22}(m_0 - \lambda^{-2}a^{-1}m_0b_0b^{-1}) + h_{22}(b_0 - bb_0b^{-1}), \\
\Delta_3 &= (f_{11}(\lambda a) + h_{11}(\lambda^{-1}b_0b^{-1}))(\lambda^{-1}a^{-1}a_0) - (\lambda^{-1}a^{-1}a_0)(f_{11}(\lambda a) + h_{11}(\lambda^{-1}b_0b^{-1})) \\
&\quad + \lambda a(f_{11}(\lambda^{-1}a^{-1}a_0) + g_{11}(\lambda^{-1}a^{-1}m_0) + h_{11}(\lambda b)) - (f_{11}(\lambda^{-1}a^{-1}a_0) \\
&\quad + g_{11}(\lambda^{-1}a^{-1}m_0) + h_{11}(\lambda b))\lambda a
\end{aligned}$$

and

$$\begin{aligned}
\Delta_4 &= (f_{22}(\lambda a) + h_{22}(\lambda^{-1}b_0b^{-1}))(\lambda b) - (\lambda b)(f_{22}(\lambda a) + h_{22}(\lambda^{-1}b_0b^{-1})) \\
&\quad + (\lambda^{-1}b_0b^{-1})(f_{22}(\lambda^{-1}a^{-1}a_0) + g_{22}(\lambda^{-1}a^{-1}m_0) + h_{22}(\lambda b)) \\
&\quad - (f_{22}(\lambda^{-1}a^{-1}a_0) + g_{22}(\lambda^{-1}a^{-1}m_0) + h_{22}(\lambda b))(\lambda^{-1}b_0b^{-1}).
\end{aligned}$$

It follows from the matrix equation that $\Delta_1 = \Delta_3$, that is,

$$\begin{aligned}
&f_{11}(a_0 - a^{-1}a_0a) + g_{11}(m_0 - \lambda^{-2}a^{-1}m_0b_0b^{-1}) + h_{11}(b_0 - bb_0b^{-1}) \\
&= (f_{11}(\lambda a) + h_{11}(\lambda^{-1}b_0b^{-1}))(\lambda^{-1}a^{-1}a_0) - (\lambda^{-1}a^{-1}a_0)(f_{11}(\lambda a) + h_{11}(\lambda^{-1}b_0b^{-1})) \\
&\quad + \lambda a(f_{11}(\lambda^{-1}a^{-1}a_0) + g_{11}(\lambda^{-1}a^{-1}m_0) + h_{11}(\lambda b)) - (f_{11}(\lambda^{-1}a^{-1}a_0) \\
&\quad + g_{11}(\lambda^{-1}a^{-1}m_0) + h_{11}(\lambda b))\lambda a.
\end{aligned}$$

Using Proposition 2.2, it is easy to see $h_{11}(b)a = ah_{11}(b)$ for all invertible $a \in \mathcal{A}$ and invertible $b \in \mathcal{B}$. By the assumption (iii), for any $b \in \mathcal{B}$, there exists an integer n such that $nI_2 - b$ is invertible in \mathcal{B} . So the preceding case yields $h_{11}(nI_2 - b)a = ah_{11}(nI_2 - b)$, which leads to $h_{11}(b)a = ah_{11}(b)$ for all invertible $a \in \mathcal{A}$ and all $b \in \mathcal{B}$. For any $a \in \mathcal{A}$, by the assumption (ii), there exists an integer n such that $nI_1 - a$ is invertible. Thus, we get $h_{11}(b)(nI_1 - a) = (nI_1 - a)h_{11}(b)$ for all $a \in \mathcal{A}$ and $b \in \mathcal{B}$. This implies

$$h_{11}(b)a = ah_{11}(b) \quad (2.3)$$

for all $a \in \mathcal{A}$ and $b \in \mathcal{B}$. Therefore, we obtain that $h_{11}(b) \in \mathcal{Z}(\mathcal{A})$ for all $b \in \mathcal{B}$.

Moreover, by the matrix equation, we have $\Delta_2 = \Delta_4$, that is,

$$\begin{aligned} & f_{22}(a_0 - a^{-1}a_0a) + g_{22}(m_0 - \lambda^{-2}a^{-1}m_0b_0b^{-1}) + h_{22}(b_0 - bb_0b^{-1}) \\ &= (f_{22}(\lambda a) + h_{22}(\lambda^{-1}b_0b^{-1}))(\lambda b) - (\lambda b)(f_{22}(\lambda a) + h_{22}(\lambda^{-1}b_0b^{-1})) \\ & \quad + (\lambda^{-1}b_0b^{-1})(f_{22}(\lambda^{-1}a^{-1}a_0) + g_{22}(\lambda^{-1}a^{-1}m_0) + h_{22}(\lambda b)) \\ & \quad - (f_{22}(\lambda^{-1}a^{-1}a_0) + g_{22}(\lambda^{-1}a^{-1}m_0) + h_{22}(\lambda b))(\lambda^{-1}b_0b^{-1}). \end{aligned}$$

With the same argument as the proof of Eq.(2.3), we see that

$$f_{22}(a)b = bf_{22}(a)$$

for all $a \in \mathcal{A}$ and $b \in \mathcal{B}$, which means $f_{22}(a) \in \mathcal{Z}(\mathcal{B})$ for all $a \in \mathcal{A}$.

Claim 3. Let $a \in \mathcal{A}$ and $m \in \mathcal{M}$. Then

- (i) $g_{11}(m) \in \mathcal{Z}(\mathcal{A})$;
- (ii) $f_{11}(I_1) \in \mathcal{Z}(\mathcal{A})$, $h_{22}(I_2) \in \mathcal{Z}(\mathcal{B})$;
- (iii) $g_{12}(am) = ag_{12}(m) + f_{11}(a)m - mf_{22}(a) + h_{11}(I_2)am - amh_{22}(I_2)$.

For any $m \in \mathcal{M}$, any invertible $a \in \mathcal{A}$ and any real number $\lambda > 0$, set

$$S = \begin{pmatrix} \lambda a & m_0 - \lambda am \\ 0 & b_0 \end{pmatrix}, \quad T = \begin{pmatrix} \lambda^{-1}a^{-1}a_0 & m \\ 0 & I_2 \end{pmatrix}.$$

Then $ST = G$, and we have

$$\begin{aligned} & \begin{pmatrix} \Delta_1 & \Delta_2 \\ 0 & * \end{pmatrix} \\ &= \phi(ST - TS) \\ &= \phi(S)T - T\phi(S) + S\phi(T) - \phi(T)S \\ &= \begin{pmatrix} f_{11}(\lambda a) + g_{11}(m_0 - \lambda am) + h_{11}(b_0) & f_{12}(\lambda a) + g_{12}(m_0 - \lambda am) + h_{12}(b_0) \\ 0 & f_{22}(\lambda a) + g_{22}(m_0 - \lambda am) + h_{22}(b_0) \end{pmatrix} \\ & \quad \cdot \begin{pmatrix} \lambda^{-1}a^{-1}a_0 & m \\ 0 & I_2 \end{pmatrix} \\ & \quad - \begin{pmatrix} \lambda^{-1}a^{-1}a_0 & m \\ 0 & I_2 \end{pmatrix} \\ & \quad \cdot \begin{pmatrix} f_{11}(\lambda a) + g_{11}(m_0 - \lambda am) + h_{11}(b_0) & f_{12}(\lambda a) + g_{12}(m_0 - \lambda am) + h_{12}(b_0) \\ 0 & f_{22}(\lambda a) + g_{22}(m_0 - \lambda am) + h_{22}(b_0) \end{pmatrix} \\ & \quad + \begin{pmatrix} \lambda a & m_0 - \lambda am \\ 0 & b_0 \end{pmatrix} \\ & \quad \cdot \begin{pmatrix} f_{11}(\lambda^{-1}a^{-1}a_0) + g_{11}(m) + h_{11}(I_2) & f_{12}(\lambda^{-1}a^{-1}a_0) + g_{12}(m) + h_{12}(I_2) \\ 0 & f_{22}(\lambda^{-1}a^{-1}a_0) + g_{22}(m) + h_{22}(I_2) \end{pmatrix} \\ & \quad - \begin{pmatrix} f_{11}(\lambda^{-1}a^{-1}a_0) + g_{11}(m) + h_{11}(I_2) & f_{12}(\lambda^{-1}a^{-1}a_0) + g_{12}(m) + h_{12}(I_2) \\ 0 & f_{22}(\lambda^{-1}a^{-1}a_0) + g_{22}(m) + h_{22}(I_2) \end{pmatrix} \\ & \quad \cdot \begin{pmatrix} \lambda a & m_0 - \lambda am \\ 0 & b_0 \end{pmatrix} \end{aligned}$$

$$= \begin{pmatrix} \Delta_3 & \Delta_4 \\ 0 & * \end{pmatrix},$$

where

$$\Delta_1 = f_{11}(a_0 - a^{-1}a_0a) + g_{11}(m_0 - \lambda^{-1}a^{-1}a_0m_0 + a^{-1}a_0am - mb_0),$$

$$\Delta_2 = f_{12}(a_0 - a^{-1}a_0a) + g_{12}(m_0 - \lambda^{-1}a^{-1}a_0m_0 + a^{-1}a_0am - mb_0),$$

$$\begin{aligned} \Delta_3 = & \lambda^{-1}(f_{11}(\lambda a) + g_{11}(m_0 - \lambda am) + h_{11}(b_0))a^{-1}a_0 \\ & - \lambda^{-1}a^{-1}a_0(f_{11}(\lambda a) + g_{11}(m_0 - \lambda am) + h_{11}(b_0)) \\ & + \lambda a(f_{11}(\lambda^{-1}a^{-1}a_0) + g_{11}(m) + h_{11}(I_2)) \\ & - \lambda(f_{11}(\lambda^{-1}a^{-1}a_0) + g_{11}(m) + h_{11}(I_2))a \end{aligned}$$

and

$$\begin{aligned} \Delta_4 = & (f_{11}(\lambda a) + g_{11}(m_0 - \lambda am) + h_{11}(b_0))m + f_{12}(\lambda a) \\ & + g_{12}(m_0 - \lambda am) + h_{12}(b_0) - f_{12}(\lambda^{-1}a^{-1}a_0)b_0 \\ & - \lambda^{-1}a^{-1}a_0(f_{12}(\lambda a) + g_{12}(m_0 - \lambda am) + h_{12}(b_0)) \\ & - m(f_{22}(\lambda a) + g_{22}(m_0 - \lambda am) + h_{22}(b_0)) + g_{12}(m)b_0 \\ & + \lambda a(f_{12}(\lambda^{-1}a^{-1}a_0) + g_{12}(m) + h_{12}(I_2)) + h_{12}(I_2)b_0 \\ & + (m_0 - \lambda am)(f_{22}(\lambda^{-1}a^{-1}a_0) + g_{22}(m) + h_{22}(I_2)) \\ & - (f_{11}(\lambda^{-1}a^{-1}a_0) + g_{11}(m) + h_{11}(I_2))(m_0 - \lambda am). \end{aligned}$$

Thus, by the matrix equation, we have $\Delta_1 = \Delta_3$, that is,

$$\begin{aligned} & f_{11}(a_0 - a^{-1}a_0a) + g_{11}(m_0 - \lambda^{-1}a^{-1}a_0m_0 + a^{-1}a_0am - mb_0) \\ & = \lambda^{-1}(f_{11}(\lambda a) + g_{11}(m_0 - \lambda am) + h_{11}(b_0))a^{-1}a_0 \\ & - \lambda^{-1}a^{-1}a_0(f_{11}(\lambda a) + g_{11}(m_0 - \lambda am) + h_{11}(b_0)) \\ & + \lambda a(f_{11}(\lambda^{-1}a^{-1}a_0) + g_{11}(m) + h_{11}(I_2)) \\ & - \lambda(f_{11}(\lambda^{-1}a^{-1}a_0) + g_{11}(m) + h_{11}(I_2))a, \end{aligned}$$

which implies

$$ag_{11}(m) + ah_{11}(I_2) - g_{11}(m)a - h_{11}(I_2)a = 0 \quad (2.4)$$

for all invertible $a \in \mathcal{A}$ and all $m \in \mathcal{M}$ since Proposition 2.2. Taking $m = 0$ in Eq.(2.4), we get $ah_{11}(I_2) - h_{11}(I_2)a = 0$. Combining this and Eq.(2.4) reduces to $ag_{11}(m) = g_{11}(m)a$ for all invertible $a \in \mathcal{A}$ and all $m \in \mathcal{M}$. By assumption (ii), for any $a \in \mathcal{A}$, there exists an integer n such that $nI_1 - a$ is invertible in \mathcal{A} . So we have $(nI_1 - a)g_{11}(m) = g_{11}(m)(nI_1 - a)$. This leads to

$$ag_{11}(m) = g_{11}(m)a$$

for all $a \in \mathcal{A}$, which means $g_{11}(m) \in \mathcal{Z}(\mathcal{A})$.

Furthermore, it follows from the matrix equation that $\Delta_2 = \Delta_4$, that is,

$$\begin{aligned} & f_{12}(a_0 - a^{-1}a_0a) + g_{12}(m_0 - \lambda^{-1}a^{-1}a_0m_0 + a^{-1}a_0am - mb_0) \\ & = (f_{11}(\lambda a) + g_{11}(m_0 - \lambda am) + h_{11}(b_0))m + f_{12}(\lambda a) \end{aligned}$$

$$\begin{aligned}
& + g_{12}(m_0 - \lambda am) + h_{12}(b_0) - f_{12}(\lambda^{-1}a^{-1}a_0)b_0 \\
& - (\lambda^{-1}a^{-1}a_0)(f_{12}(\lambda a) + g_{12}(m_0 - \lambda am) + h_{12}(b_0)) \\
& - m(f_{22}(\lambda a) + g_{22}(m_0 - \lambda am) + h_{22}(b_0)) + g_{12}(m)b_0 \\
& + \lambda a(f_{12}(\lambda^{-1}a^{-1}a_0) + g_{12}(m) + h_{12}(I_2)) + h_{12}(I_2)b_0 \\
& + (m_0 - \lambda am)(f_{22}(\lambda^{-1}a^{-1}a_0) + g_{22}(m) + h_{22}(I_2)) \\
& - (f_{11}(\lambda^{-1}a^{-1}a_0) + g_{11}(m) + h_{11}(I_2))(m_0 - \lambda am),
\end{aligned}$$

which yields

$$\begin{aligned}
0 = & f_{11}(a)m - g_{11}(am)m + f_{12}(a) - g_{12}(am) - mf_{22}(a) + mg_{22}(am) + ag_{12}(m) \\
& + ah_{12}(I_2) - amg_{22}(m) - amh_{22}(I_2) + g_{11}(m)am + h_{11}(I_2)am
\end{aligned}$$

for all invertible $a \in \mathcal{A}$ and all $m \in \mathcal{M}$. Combining this and Eq. (2.2), we have

$$\begin{aligned}
0 = & f_{11}(a)m - g_{11}(am)m - g_{12}(am) - mf_{22}(a) + mg_{22}(am) + ag_{12}(m) \\
& - amg_{22}(m) - amh_{22}(I_2) + g_{11}(m)am + h_{11}(I_2)am
\end{aligned}$$

for all invertible $a \in \mathcal{A}$ and all $m \in \mathcal{M}$. Replacing m with $-m$ in the above equality, we arrive at

$$\begin{aligned}
0 = & -f_{11}(a)m - g_{11}(am)m + g_{12}(am) + mf_{22}(a) + mg_{22}(am) - ag_{12}(m) \\
& - amg_{22}(m) + amh_{22}(I_2) + g_{11}(m)am + h_{11}(I_2)am.
\end{aligned}$$

Comparing these two equalities, we get

$$0 = f_{11}(a)m - g_{12}(am) - mf_{22}(a) + ag_{12}(m) - amh_{22}(I_2) + h_{11}(I_2)am$$

for all invertible $a \in \mathcal{A}$ and all $m \in \mathcal{M}$. By assumption (ii) again, there exists n such that $nI_1 - a$ is invertible in \mathcal{A} . Then one can easily check that

$$g_{12}(am) = ag_{12}(m) + f_{11}(a)m - mf_{22}(a) + h_{11}(I_2)am - amh_{22}(I_2) \quad (2.5)$$

for all $a \in \mathcal{A}$ and $m \in \mathcal{M}$.

Moreover, letting $a = I_1$ in Eq.(2.5), we get

$$(f_{11}(I_1) + h_{11}(I_2))m = m(f_{22}(I_1) + h_{22}(I_2)) \quad (2.6)$$

for all $m \in \mathcal{M}$. By Claim 2 (i) and the assumption (i) of the theorem, there exists $\eta(h_{11}(I_2)) \in \mathcal{Z}(\mathcal{B})$ such that

$$h_{11}(I_2)m = m\eta(h_{11}(I_2)) \quad (2.7)$$

for all $m \in \mathcal{M}$. It follows from Eqs. (2.6) and (2.7) that

$$f_{11}(I_1)m = m(f_{22}(I_1) + h_{22}(I_1) - \eta(h_{11}(I_2)))$$

for all $m \in \mathcal{M}$, which implies $f_{11}(I_1) \in \mathcal{Z}(\mathcal{A})$.

Similarly, one can verify that $h_{22}(I_2) \in \mathcal{Z}(\mathcal{B})$.

Claim 4. For any $m \in \mathcal{M}$ and $b \in \mathcal{B}$, we claim that

- (i) $g_{22}(m) \in \mathcal{Z}(\mathcal{B})$;
- (ii) $g_{12}(mb) = g_{12}(m)b + mh_{22}(b) - h_{11}(b)m + mbf_{22}(I_1) - f_{11}(I_1)mb$.

For any invertible $b \in \mathcal{B}$, $m \in \mathcal{M}$ and real number $\lambda > 0$, putting

$$S = \begin{pmatrix} I_1 & m \\ 0 & \lambda^{-1}b_0b^{-1} \end{pmatrix}, \quad T = \begin{pmatrix} a_0 & m_0 - \lambda mb \\ 0 & \lambda b \end{pmatrix},$$

we have $ST = G$. Then

$$\begin{aligned} & \begin{pmatrix} * & g_{12}(m_0 - a_0m - \lambda^{-1}m_0b_0b^{-1} + mbb_0b^{-1}) + h_{12}(b_0 - bb_0b^{-1}) \\ 0 & g_{22}(m_0 - a_0m - \lambda^{-1}m_0b_0b^{-1} + mbb_0b^{-1}) + h_{22}(b_0 - bb_0b^{-1}) \end{pmatrix} \\ &= \phi(ST - TS) \\ &= \phi(S)T - T\phi(S) + S\phi(T) - \phi(T)S \\ &= \begin{pmatrix} f_{11}(I_1) + g_{11}(m) + h_{11}(\lambda^{-1}b_0b^{-1}) & f_{12}(I_1) + g_{12}(m) + h_{12}(\lambda^{-1}b_0b^{-1}) \\ 0 & f_{22}(I_1) + g_{22}(m) + h_{22}(\lambda^{-1}b_0b^{-1}) \end{pmatrix} \\ & \cdot \begin{pmatrix} a_0 & m_0 - \lambda mb \\ 0 & \lambda b \end{pmatrix} \\ & - \begin{pmatrix} a_0 & m_0 - \lambda mb \\ 0 & \lambda b \end{pmatrix} \\ & \cdot \begin{pmatrix} f_{11}(I_1) + g_{11}(m) + h_{11}(\lambda^{-1}b_0b^{-1}) & f_{12}(I_1) + g_{12}(m) + h_{12}(\lambda^{-1}b_0b^{-1}) \\ 0 & f_{22}(I_1) + g_{22}(m) + h_{22}(\lambda^{-1}b_0b^{-1}) \end{pmatrix} \\ & + \begin{pmatrix} I_1 & m \\ 0 & \lambda^{-1}b_0b^{-1} \end{pmatrix} \\ & \cdot \begin{pmatrix} f_{11}(a_0) + g_{11}(m_0 - \lambda mb) + h_{11}(\lambda b) & f_{12}(a_0) + g_{12}(m_0 - \lambda mb) + h_{12}(\lambda b) \\ 0 & f_{22}(a_0) + g_{22}(m_0 - \lambda mb) + h_{22}(\lambda b) \end{pmatrix} \\ & - \begin{pmatrix} f_{11}(a_0) + g_{11}(m_0 - \lambda mb) + h_{11}(\lambda b) & f_{12}(a_0) + g_{12}(m_0 - \lambda mb) + h_{12}(\lambda b) \\ 0 & f_{22}(a_0) + g_{22}(m_0 - \lambda mb) + h_{22}(\lambda b) \end{pmatrix} \\ & \cdot \begin{pmatrix} I_1 & m \\ 0 & \lambda^{-1}b_0b^{-1} \end{pmatrix} \\ &= \begin{pmatrix} * & \Delta_1 \\ 0 & \Delta_2 \end{pmatrix}, \end{aligned}$$

where

$$\begin{aligned} \Delta_1 &= (f_{11}(I_1) + g_{11}(m) + h_{11}(\lambda^{-1}b_0b^{-1}))(m_0 - \lambda mb) \\ & \quad + \lambda(f_{12}(I_1) + g_{12}(m) + h_{12}(\lambda^{-1}b_0b^{-1}))b \\ & \quad - a_0(f_{12}(I_1) + g_{12}(m) + h_{12}(\lambda^{-1}b_0b^{-1})) \\ & \quad - (m_0 - \lambda mb)(f_{22}(I_1) + g_{22}(m) + h_{22}(\lambda^{-1}b_0b^{-1})) \\ & \quad + f_{12}(a_0) + g_{12}(m_0 - \lambda mb) + h_{12}(\lambda b) \\ & \quad + m(f_{22}(a_0) + g_{22}(m_0 - \lambda mb) + h_{22}(\lambda b)) \\ & \quad - (f_{11}(a_0) + g_{11}(m_0 - \lambda mb) + h_{11}(\lambda b))m \\ & \quad - \lambda^{-1}(f_{12}(a_0) + g_{12}(m_0 - \lambda mb) + h_{12}(\lambda b))b_0b^{-1} \end{aligned}$$

and

$$\Delta_2 = \lambda(f_{22}(I_1) + g_{22}(m) + h_{22}(\lambda^{-1}b_0b^{-1}))b$$

$$\begin{aligned}
& - \lambda b(f_{22}(I_1) + g_{22}(m) + h_{22}(\lambda^{-1}b_0b^{-1})) \\
& + \lambda^{-1}b_0b^{-1}(f_{22}(a_0) + g_{22}(m_0 - \lambda mb) + h_{22}(\lambda b)) \\
& - \lambda^{-1}(f_{22}(a_0) + g_{22}(m_0 - \lambda mb) + h_{22}(\lambda b))b_0b^{-1}.
\end{aligned}$$

By the matrix equation, we arrive at

$$\begin{aligned}
& g_{22}(m_0 - a_0m - \lambda^{-1}m_0b_0b^{-1} + mbb_0b^{-1}) + h_{22}(b_0 - bb_0b^{-1}) \\
& = \lambda(f_{22}(I_1) + g_{22}(m) + h_{22}(\lambda^{-1}b_0b^{-1}))b \\
& - \lambda b(f_{22}(I_1) + g_{22}(m) + h_{22}(\lambda^{-1}b_0b^{-1})) \\
& + \lambda^{-1}b_0b^{-1}(f_{22}(a_0) + g_{22}(m_0 - \lambda mb) + h_{22}(\lambda b)) \\
& - \lambda^{-1}(f_{22}(a_0) + g_{22}(m_0 - \lambda mb) + h_{22}(\lambda b))b_0b^{-1}.
\end{aligned}$$

It follows from Proposition 2.2 and Claim 2 (ii) that $g_{22}(m)b = bg_{22}(m)$ for all invertible $b \in \mathcal{B}$ and all $m \in \mathcal{M}$. For any $b \in \mathcal{B}$, by assumption (iii), there exists an integer n such that $nI_2 - b$ is invertible in \mathcal{B} . So we have $g_{22}(m)(nI_1 - b) = (nI_1 - b)g_{22}(m)$ for all $b \in \mathcal{B}$ and $m \in \mathcal{M}$. This leads to

$$g_{22}(m)b = bg_{22}(m)$$

for all $b \in \mathcal{B}$ and $m \in \mathcal{M}$. Hence $g_{22}(m) \in \mathcal{Z}(\mathcal{B})$ for all $m \in \mathcal{M}$.

Similarly, it follows from the matrix equation that

$$\begin{aligned}
& g_{12}(m_0 - a_0m - \lambda^{-1}m_0b_0b^{-1} + mbb_0b^{-1}) + h_{12}(b_0 - bb_0b^{-1}) \\
& = (f_{11}(I_1) + g_{11}(m) + h_{11}(\lambda^{-1}b_0b^{-1}))(m_0 - \lambda mb) \\
& + \lambda(f_{12}(I_1) + g_{12}(m) + h_{12}(\lambda^{-1}b_0b^{-1}))b \\
& - a_0(f_{12}(I_1) + g_{12}(m) + h_{12}(\lambda^{-1}b_0b^{-1})) \\
& - (m_0 - \lambda mb)(f_{22}(I_1) + g_{22}(m) + h_{22}(\lambda^{-1}b_0b^{-1})) \\
& + (f_{12}(a_0) + g_{12}(m_0 - \lambda mb) + h_{12}(\lambda b)) \\
& + m(f_{22}(a_0) + g_{22}(m_0 - \lambda mb) + h_{22}(\lambda b)) \\
& - (f_{11}(a_0) + g_{11}(m_0 - \lambda mb) + h_{11}(\lambda b))m \\
& - \lambda^{-1}(f_{12}(a_0) + g_{12}(m_0 - \lambda mb) + h_{12}(\lambda b))b_0b^{-1},
\end{aligned}$$

which yields

$$\begin{aligned}
0 & = -f_{11}(I_1)mb - g_{11}(m)mb + f_{12}(I_1)b + g_{12}(m)b + mbf_{22}(I_1) + mbg_{22}(m) \\
& - g_{12}(mb) + h_{12}(b) - mg_{22}(mb) + mh_{22}(b) + g_{11}(mb)m - h_{11}(b)m.
\end{aligned}$$

Replacing m with $-m$, we arrive at

$$\begin{aligned}
0 & = f_{11}(I_1)mb - g_{11}(m)mb + f_{12}(I_1)b - g_{12}(m)b - mbf_{22}(I_1) + mbg_{22}(m) \\
& + g_{12}(mb) + h_{12}(b) - mg_{22}(mb) - mh_{22}(b) + g_{11}(mb)m + h_{11}(b)m.
\end{aligned}$$

Comparing these two equalities, we have

$$g_{12}(mb) = g_{12}(m)b + mh_{22}(b) - h_{11}(b)m + mbf_{22}(I_1) - f_{11}(I_1)mb$$

for all invertible $b \in \mathcal{B}$ and all $m \in \mathcal{M}$. For any $b \in \mathcal{B}$, by the assumption (iii) again, there exists an integer n such that $nI_2 - b$ is invertible in \mathcal{B} . So we get

$$\begin{aligned} g_{12}(m(nI_2 - b)) &= g_{12}(m)(nI_2 - b) + mh_{22}(nI_2 - b) - h_{11}(nI_2 - b)m \\ &\quad + m(nI_2 - b)f_{22}(I_1) - f_{11}(I_1)m(nI_2 - b) \end{aligned}$$

for all $b \in \mathcal{B}$ and $m \in \mathcal{M}$, which leads to

$$g_{12}(mb) = g_{12}(m)b + mh_{22}(b) - h_{11}(b)m + mbf_{22}(I_1) - f_{11}(I_1)mb$$

for all $b \in \mathcal{B}$ and $m \in \mathcal{M}$, as desired.

By Claim 1-4, the theorem holds. \square

The following proposition is from the remark of Lemma 5 in [7].

Proposition 2.3. *Let δ be a derivation of triangular algebra $\mathcal{T} = \text{Tri}(\mathcal{A}, \mathcal{M}, \mathcal{B})$. Then δ is of the form*

$$\delta \begin{pmatrix} a & m \\ 0 & b \end{pmatrix} = \begin{pmatrix} P_{\mathcal{A}}(a) & an - nb + g(m) \\ 0 & P_{\mathcal{B}}(b) \end{pmatrix}$$

where $n \in \mathcal{M}$ and $P_{\mathcal{A}} : \mathcal{A} \rightarrow \mathcal{A}$, $g : \mathcal{M} \rightarrow \mathcal{M}$, $P_{\mathcal{B}} : \mathcal{B} \rightarrow \mathcal{B}$ are linear maps satisfying the following conditions:

- (1) $g(am) = P_{\mathcal{A}}(a)m + ag(m)$ for all $a \in \mathcal{A}$ and $m \in \mathcal{M}$;
- (2) $g(mb) = mP_{\mathcal{B}}(b) + g(m)b$ for all $b \in \mathcal{B}$ and $m \in \mathcal{M}$.

Proposition 2.3 has the following consequence.

Proposition 2.4. *If the derivation δ of triangular algebra $\mathcal{T} = \text{Tri}(\mathcal{A}, \mathcal{M}, \mathcal{B})$ has the following form*

$$\delta \begin{pmatrix} a & m \\ 0 & b \end{pmatrix} = \begin{pmatrix} P_{\mathcal{A}}(a) & 0 \\ 0 & P_{\mathcal{B}}(b) \end{pmatrix},$$

then $\delta = 0$.

Proof. By Proposition 2.3, we see $an - nb + g(m) = 0$ for all $a \in \mathcal{A}$, $b \in \mathcal{B}$ and $m \in \mathcal{M}$. It follows that $g(m) = 0$ for all $m \in \mathcal{M}$. Furthermore, by Proposition 2.3 (1), we get $P_{\mathcal{A}}(a)m = 0$ for all $a \in \mathcal{A}$ and $m \in \mathcal{M}$. Thus, we have $P_{\mathcal{A}}(a) = 0$ since \mathcal{M} is faithful.

Similarly, one can verify $P_{\mathcal{B}}(b) = 0$ for all $b \in \mathcal{B}$. Therefore, $\delta = 0$. \square

Now we have the following necessary and sufficient conditions for Lie derivable maps of triangular algebras to be proper.

Theorem 2.5. *Let $\mathcal{T} = \text{Tri}(\mathcal{A}, \mathcal{M}, \mathcal{B})$ be a triangular algebra and $G = \begin{pmatrix} a_0 & m_0 \\ 0 & b_0 \end{pmatrix}$*

is an arbitrary but fixed point in \mathcal{T} . Assume that

- (i) $\pi_{\mathcal{A}}(\mathcal{Z}(\mathcal{T})) = \mathcal{Z}(\mathcal{A})$ and $\pi_{\mathcal{B}}(\mathcal{Z}(\mathcal{T})) = \mathcal{Z}(\mathcal{B})$;
- (ii) For every $a \in \mathcal{A}$, there exists some integer n such that $nI_1 - a$ is invertible in \mathcal{A} ;
- (iii) For every $b \in \mathcal{B}$, there exists some integer n such that $nI_2 - b$ is invertible in \mathcal{B} .

Let $\phi : \mathcal{T} \rightarrow \mathcal{T}$ is Lie derivable at G . For any $\begin{pmatrix} a & m \\ 0 & b \end{pmatrix} \in \mathcal{T}$, we write

$$\phi \begin{pmatrix} a & m \\ 0 & b \end{pmatrix} = \begin{pmatrix} f_{11}(a) + g_{11}(m) + h_{11}(b) & af_{12}(I_1) - f_{12}(I_1)b + g_{12}(m) \\ 0 & f_{22}(a) + g_{22}(m) + h_{22}(b) \end{pmatrix}.$$

Then the following statements are equivalent:

- (1) ϕ is proper;
- (2) $f_{11}(I_1) \oplus f_{22}(I_1) \in \mathcal{Z}(\mathcal{T})$, $g_{11}(m) \oplus g_{22}(m) \in \mathcal{Z}(\mathcal{T})$ for all $m \in \mathcal{M}$;
- (3) $h_{11}(I_2) \oplus h_{22}(I_2) \in \mathcal{Z}(\mathcal{T})$, $g_{11}(m) \oplus g_{22}(m) \in \mathcal{Z}(\mathcal{T})$ for all $m \in \mathcal{M}$.

Proof. By Theorem 2.1, we have $f_{22}(a) \in \mathcal{Z}(\mathcal{B})$ and $h_{22}(I_2) \in \mathcal{Z}(\mathcal{B})$. Thus, there exist $\eta^{-1}(f_{22}(a)) \in \mathcal{Z}(\mathcal{A})$ and $\eta^{-1}(h_{22}(I_2)) \in \mathcal{Z}(\mathcal{A})$ such that $\eta^{-1}(f_{22}(a))m = mf_{22}(a)$ and $\eta^{-1}(h_{22}(I_2))m = mh_{22}(I_2)$. Hence we arrive at

$$g_{12}(am) = P_{\mathcal{A}}(a)m + ag_{12}(m) \quad (2.8)$$

for all $a \in \mathcal{A}$ and $m \in \mathcal{M}$, where $P_{\mathcal{A}}(a) = f_{11}(a) - \eta^{-1}(f_{22}(a)) + h_{11}(I_2)a - \eta^{-1}(h_{22}(I_2))a$. Similarly, we get

$$g_{12}(mb) = mP_{\mathcal{B}}(b) + g_{12}(m)b \quad (2.9)$$

for all $b \in \mathcal{B}$ and $m \in \mathcal{M}$, where $P_{\mathcal{B}}(b) = h_{22}(b) - \eta(h_{11}(b)) + bf_{22}(I_1) - b\eta(f_{11}(I_1))$.

Next, we define three linear maps ψ , γ and τ from \mathcal{T} into itself as following.

$$\begin{aligned} \psi \begin{pmatrix} a & m \\ 0 & b \end{pmatrix} &= \begin{pmatrix} P_{\mathcal{A}}(a) & af_{12}(I_1) - f_{12}(I_1)b + g_{12}(m) \\ 0 & P_{\mathcal{B}}(b) \end{pmatrix}, \\ \gamma \begin{pmatrix} a & m \\ 0 & b \end{pmatrix} &= \begin{pmatrix} \eta^{-1}(f_{22}(a)) + h_{11}(b) & 0 \\ 0 & \eta(h_{11}(b)) + f_{22}(a) \end{pmatrix} \end{aligned}$$

and

$$\begin{aligned} \tau \begin{pmatrix} a & m \\ 0 & b \end{pmatrix} \\ = \begin{pmatrix} \eta^{-1}(h_{22}(I_2))a - h_{11}(I_2)a + g_{11}(m) & 0 \\ 0 & b\eta(f_{11}(I_1)) - bf_{22}(I_1) + g_{22}(m) \end{pmatrix}. \end{aligned}$$

Clearly, $\phi = \psi + \gamma + \tau$, where γ is into $\mathcal{Z}(\mathcal{T})$. By Proposition 2.3 and Eqs.(2.8)-(2.9), one can verify that ψ is a derivation of \mathcal{T} .

(1) \Rightarrow (2): If ϕ is proper, then $\phi = \tilde{\psi} + \tilde{\gamma}$, where $\tilde{\psi}$ is a derivation of \mathcal{T} and $\tilde{\gamma} : \mathcal{T} \rightarrow \mathcal{Z}(\mathcal{T})$ is a linear map vanishing at commutators $[S, T]$ whenever $ST = G$. Hence $\tilde{\psi} + \tilde{\gamma} = \psi + \gamma + \tau$, that is, $\tilde{\psi} - \psi = \tau + \gamma - \tilde{\gamma}$. Note that $\tilde{\psi} - \psi$ is a derivation of \mathcal{T} . By Proposition 2.4, we have $\tilde{\psi} - \psi = 0$. This yields that τ is a linear map from \mathcal{T} into $\mathcal{Z}(\mathcal{T})$. Then we conclude that

$$\tau \begin{pmatrix} 0 & m \\ 0 & 0 \end{pmatrix} = \begin{pmatrix} g_{11}(m) & 0 \\ 0 & g_{22}(m) \end{pmatrix} \in \mathcal{Z}(\mathcal{T})$$

and

$$\tau \begin{pmatrix} 0 & 0 \\ 0 & I_2 \end{pmatrix} = \begin{pmatrix} 0 & 0 \\ 0 & \eta(f_{11}(I_1)) - f_{22}(I_1) \end{pmatrix} \in \mathcal{Z}(\mathcal{T}),$$

which means $\eta(f_{11}(I_1)) - f_{22}(I_1) = 0$, that is, $f_{11}(I_1) \oplus f_{22}(I_1) \in \mathcal{Z}(\mathcal{T})$.

(2) \Rightarrow (3): Since $f_{11}(I_1) \oplus f_{22}(I_1) \in \mathcal{Z}(\mathcal{T})$, we have $f_{11}(I_1)m = mf_{22}(I_1)$ for all $m \in \mathcal{M}$. It follows from Eq.(2.6) that $h_{11}(I_2)m = mh_{22}(I_2)$ for all $m \in \mathcal{M}$. Therefore, $h_{11}(I_2) \oplus h_{22}(I_2) \in \mathcal{Z}(\mathcal{T})$.

(3) \Rightarrow (1): If $h_{11}(I_2) \oplus h_{22}(I_2) \in \mathcal{Z}(\mathcal{T})$, then $h_{11}(I_2)m = mh_{22}(I_2)$ for all $m \in \mathcal{M}$. Hence we have

$$\eta^{-1}(h_{22}(I_2)) - h_{11}(I_2) = 0. \quad (2.10)$$

It follows from Eq.(2.6) that $f_{11}(I_1)m = mf_{22}(I_1)$ for all $m \in \mathcal{M}$, which means

$$\eta(f_{11}(I_1)) - f_{22}(I_1) = 0. \quad (2.11)$$

Therefore, by Eqs.(2.10)-(2.11), we get

$$\tau \begin{pmatrix} a & m \\ 0 & b \end{pmatrix} = \begin{pmatrix} g_{11}(m) & 0 \\ 0 & g_{22}(m) \end{pmatrix} \in \mathcal{Z}(\mathcal{T})$$

for all $\begin{pmatrix} a & m \\ 0 & b \end{pmatrix} \in \mathcal{T}$. Letting $\omega = \gamma + \tau$, we obtain $\phi = \psi + \omega$, where ω is a linear map from \mathcal{T} into $\mathcal{Z}(\mathcal{T})$. Suppose that $ST = G$. We compute

$$\begin{aligned} \omega([S, T]) &= \phi([S, T]) - \psi([S, T]) \\ &= [\phi(S), T] + [S, \phi(T)] - [\psi(S), T] - [S, \psi(T)] \\ &= [(\gamma + \tau)(S), T] + [S, (\gamma + \tau)(T)] \\ &= 0. \end{aligned}$$

□

Theorem 2.5 has the following consequence, which is the main result in [11] for $a_0 = 0$ and $a_0 = I_1$, respectively.

Corollary 2.6. *Let $\mathcal{T} = \text{Tri}(\mathcal{A}, \mathcal{M}, \mathcal{B})$ be a triangular algebra and $G_1 = \begin{pmatrix} a_0 & 0 \\ 0 & 0 \end{pmatrix}$,*

where a_0 is an arbitrary but fixed point in \mathcal{A} . Assume that

- (i) $\pi_{\mathcal{A}}(\mathcal{Z}(\mathcal{T})) = \mathcal{Z}(\mathcal{A})$ and $\pi_{\mathcal{B}}(\mathcal{Z}(\mathcal{T})) = \mathcal{Z}(\mathcal{B})$;
- (ii) For every $a \in \mathcal{A}$, there exists some integer n such that $nI_1 - a$ is invertible in \mathcal{A} ;
- (iii) For every $b \in \mathcal{B}$, there exists some integer n such that $nI_2 - b$ is invertible in \mathcal{B} .

Then $\phi : \mathcal{T} \rightarrow \mathcal{T}$ is Lie derivable at G if and only if it has the form $\phi = \psi + \omega$, where ψ is a derivation of \mathcal{T} and $\omega : \mathcal{T} \rightarrow \mathcal{Z}(\mathcal{T})$ is a linear map vanishing on each commutator $[S, T]$ whenever $ST = G_1$.

Proof. The ‘‘if’’ part is obvious. We only need to prove ‘‘only if’’ part.

For any $m \in \mathcal{M}$, taking

$$S = \begin{pmatrix} a_0 & m \\ 0 & 0 \end{pmatrix}, \quad T = \begin{pmatrix} I_1 & 0 \\ 0 & 0 \end{pmatrix},$$

we have $ST = G_1$. Then

$$\begin{pmatrix} -g_{11}(m) & -g_{12}(m) \\ 0 & -g_{22}(m) \end{pmatrix}$$

$$\begin{aligned}
&= \phi(ST - TS) \\
&= \phi(S)T - T\phi(S) + S\phi(T) - \phi(T)S \\
&= \begin{pmatrix} f_{11}(a_0) + g_{11}(m) & f_{12}(a_0) + g_{12}(m) \\ 0 & f_{22}(a_0) + g_{22}(m) \end{pmatrix} \begin{pmatrix} I_1 & 0 \\ 0 & 0 \end{pmatrix} \\
&\quad - \begin{pmatrix} I_1 & 0 \\ 0 & 0 \end{pmatrix} \begin{pmatrix} f_{11}(a_0) + g_{11}(m) & f_{12}(a_0) + g_{12}(m) \\ 0 & f_{22}(a_0) + g_{22}(m) \end{pmatrix} \\
&\quad + \begin{pmatrix} a_0 & m \\ 0 & 0 \end{pmatrix} \begin{pmatrix} f_{11}(I_1) & f_{12}(I_1) \\ 0 & f_{22}(I_1) \end{pmatrix} - \begin{pmatrix} f_{11}(I_1) & f_{12}(I_1) \\ 0 & f_{22}(I_1) \end{pmatrix} \begin{pmatrix} a_0 & m \\ 0 & 0 \end{pmatrix} \\
&= \begin{pmatrix} 0 & -g_{12}(m) + mf_{22}(I_1) - f_{11}(I_1)m \\ 0 & 0 \end{pmatrix}.
\end{aligned}$$

It follows from the matrix equation that

$$g_{11}(m) = g_{22}(m) = 0$$

and

$$f_{11}(I_1)m = mf_{22}(I_1)$$

for all $m \in \mathcal{M}$, which means $f_{11}(I_1) \oplus f_{22}(I_1) \in \mathcal{Z}(\mathcal{T})$. Hence, by Theorem 2.5, ϕ is proper, that is, $\phi = \psi + \omega$, where ψ is a derivation of \mathcal{T} and $\omega : \mathcal{T} \rightarrow \mathcal{Z}(\mathcal{T})$ is a linear map vanishing on each commutator $[S, T]$ whenever $ST = G_1$. \square

3. APPLICATION

In this section, we give some applications of results in Section 2 to nest algebras.

Let X be a Banach space over the complex field \mathbb{C} , and $B(X)$ denote the algebra of all bounded linear operators on X . A nest \mathcal{N} in X is a chain of norm closed linear subspaces of X containing $\{0\}$ and X , which is closed under the formation of arbitrary closed linear span and intersection. A nest is said to be nontrivial if $\mathcal{N} \neq \{\{0\}, X\}$. The nest algebra associated to a nest \mathcal{N} , denoted by $alg\mathcal{N}$, is the set

$$alg\mathcal{N} = \{T \in B(X) : TN \subseteq N, \forall N \in \mathcal{N}\}.$$

Theorem 2.1 and 2.5 suggest the following theorem.

Theorem 3.1. *Let \mathcal{N} be a nest on a complex Banach space space. Suppose that there exists a non-trivial element in \mathcal{N} which is complemented in X . Let $\phi : alg\mathcal{N} \rightarrow alg\mathcal{N}$ is Lie derivable at an arbitrary but fixed point $G \in alg\mathcal{N}$. For any $\begin{pmatrix} x & y \\ 0 & z \end{pmatrix} \in alg\mathcal{N}$, we write*

$$\phi \begin{pmatrix} x & y \\ 0 & z \end{pmatrix} = \begin{pmatrix} f_{11}(x) + g_{11}(y) + h_{11}(z) & xf_{12}(I_1) - f_{12}(I_1)z + g_{12}(y) \\ 0 & f_{22}(x) + g_{22}(y) + h_{22}(z) \end{pmatrix}.$$

Then the following statements are equivalent:

- (1) ϕ is proper;
- (2) $f_{11}(I_1) \oplus f_{22}(I_1) \in \mathbb{C}I$, $g_{11}(y) \oplus g_{22}(y) \in \mathbb{C}I$ for all $y \in \mathcal{M}$;
- (3) $h_{11}(I_2) \oplus h_{22}(I_2) \in \mathbb{C}I$, $g_{11}(y) \oplus g_{22}(y) \in \mathbb{C}I$ for all $y \in \mathcal{M}$.

Proof of Theorem 3.1. If \tilde{N} is the non-trivial element in \mathcal{N} which is complemented in X , then there exists an idempotent operator $P \in B(X)$ with $\text{ran}(P) = \tilde{N}$, such that $X = \text{ran}(P) \oplus \text{ker}(P)$. It is clear that $P \in \text{alg}\mathcal{N}$. Set

$$\mathcal{N}_1 = \{N \cap \text{ran}P : N \in \mathcal{N}\}, \quad \mathcal{N}_2 = \{N \cap \text{ker}(P) : N \in \mathcal{N}\}.$$

Then \mathcal{N}_1 and \mathcal{N}_2 are nests on Banach spaces $\text{ran}(P)$ and $\text{ker}(P)$, respectively. One can check that $PB(X)(I - P) \subseteq \text{alg}\mathcal{N}$, which implies

$$PB(X)(I - P) = P\text{alg}\mathcal{N}(I - P).$$

Then we denote

$$\text{alg}\mathcal{N} = \left\{ \begin{pmatrix} x & y \\ 0 & z \end{pmatrix} : x \in \text{alg}\mathcal{N}_1, y \in B(\text{ker}(P), \text{ran}(P)), z \in \text{alg}\mathcal{N}_2 \right\}.$$

Note that $B(\text{ker}(P), \text{ran}(P))$ is faithful $(\text{alg}\mathcal{N}_1, \text{alg}\mathcal{N}_2)$ -bimodule. Indeed, for $x \in \text{alg}\mathcal{N}_1$, if $xy = 0$ for all $y \in B(\text{ker}(P), \text{ran}(P))$, then we have $xPB(X)(I - P) = \{0\}$. Since $B(X)$ is prime, we see $x = 0$. It follows that $B(\text{ker}(P), \text{ran}(P))$ is a faithful $(\text{alg}\mathcal{N}_1)$ -left module. Similarly, one can verify that $B(\text{ker}(P), \text{ran}(P))$ is a faithful $(\text{alg}\mathcal{N}_2)$ -right module.

Therefore, nest algebra $\text{alg}\mathcal{N}$ can be decomposed into a triangular algebra which satisfies conditions (i)-(iii) of Theorem 2.5. Clearly, the center of $\text{alg}\mathcal{N}$ is $\mathbb{C}I$. Hence, by Theorem 2.5, the theorem is obtained. \square

Setting $G_1 = \begin{pmatrix} x_0 & 0 \\ 0 & 0 \end{pmatrix}$, where $x_0 \in \text{alg}\mathcal{N}_1$ is an arbitrary but fixed operator, we arrive at the following consequence.

Corollary 3.2. *Let \mathcal{N} be a nest on a complex Banach space. Suppose that there exists a non-trivial element in \mathcal{N} which is complemented in X . Then $\phi : \text{alg}\mathcal{N} \rightarrow \text{alg}\mathcal{N}$ is Lie derivable at G_1 if and only if there exists $T \in \text{alg}\mathcal{N}$ and a linear functional $\omega : \text{alg}\mathcal{N} \rightarrow \mathbb{C}$ satisfying $\omega([S, T]) = 0$ whenever $ST = G_1$ such that $\phi(A) = AT - TA + \omega(A)$ for all $A \in \text{alg}\mathcal{N}$.*

Proof. The ‘‘if’’ part is obvious. We only need to prove ‘‘only if’’ part.

By Corollary 2.6, we obtain that $\phi = \psi + \omega$, where ψ is a derivation of $\text{alg}\mathcal{N}$ and $\omega : \text{alg}\mathcal{N} \rightarrow \mathbb{C}$ is a linear functional vanishing on each commutator $[S, T]$ whenever $ST = G_1$. Using Theorem 2.2 in [10] it follows that every linear derivation of a nest algebra on a Banach space is continuous. Furthermore, by [20], every continuous linear derivation of a nest algebra on a Banach space is inner. Then there is an operator $T \in \text{alg}\mathcal{N}$ such that $\psi(A) = AT - TA$ for all $A \in \text{alg}\mathcal{N}$, so that $\phi(A) = AT - TA + \omega(A)$ for all $A \in \text{alg}\mathcal{N}$. The proof is completed. \square

Since every closed subspace is complemented in Hilbert spaces, we have the following results immediately.

Corollary 3.3. *Let \mathcal{N} be a nest on a complex Hilbert space. Suppose that $\phi : \text{alg}\mathcal{N} \rightarrow \text{alg}\mathcal{N}$ is Lie derivable at an arbitrary but fixed point $G \in \text{alg}\mathcal{N}$. For any*

$\begin{pmatrix} x & y \\ 0 & z \end{pmatrix} \in \text{alg}\mathcal{N}$, we write

$$\phi \begin{pmatrix} x & y \\ 0 & z \end{pmatrix} = \begin{pmatrix} f_{11}(x) + g_{11}(y) + h_{11}(z) & xf_{12}(I_1) - f_{12}(I_1)z + g_{12}(y) \\ 0 & f_{22}(x) + g_{22}(y) + h_{22}(z) \end{pmatrix}.$$

Then the following statements are equivalent:

- (1) ϕ is proper;
- (2) $f_{11}(I_1) \oplus f_{22}(I_1) \in \mathbb{C}I$, $g_{11}(y) \oplus g_{22}(y) \in \mathbb{C}I$ for all $y \in \mathcal{M}$;
- (3) $h_{11}(I_2) \oplus h_{22}(I_2) \in \mathbb{C}I$, $g_{11}(y) \oplus g_{22}(y) \in \mathbb{C}I$ for all $y \in \mathcal{M}$.

Corollary 3.4. *Let \mathcal{N} be a nest on a complex Hilbert space. Then $\phi : \text{alg}\mathcal{N} \rightarrow \text{alg}\mathcal{N}$ is Lie derivable at G_1 if and only if there exists $T \in \text{alg}\mathcal{N}$ and a linear functional $\omega : \text{alg}\mathcal{N} \rightarrow \mathbb{C}$ satisfying $\omega([S, T]) = 0$ whenever $ST = G_1$ such that $\phi(A) = AT - TA + \omega(A)$ for all $A \in \text{alg}\mathcal{N}$.*

Acknowledgement. This work is supported by the National Natural Science Foundation of China (No. 12071134) and Natural Science Foundation of Shaanxi Province (No. 2021JM-119).

REFERENCES

1. R. An, Y. Cai, *Derivations and derivable maps on von Neumann algebras*, Linear Multilinear Algebra **69** (2021) 2806-2812.
2. R. An, J. Hou, *Characterizations of derivations on triangular rings: Additive maps derivable at idempotents*, Linear Algebra Appl. **431** (2009)1070-1080.
3. D. Benkovič, *Generalized Lie n -derivations of triangular algebras*, Comm. Algebra **47** (2019) 5294-5302.
4. D. Benkovič, M. Grašič, *Generalized skew derivations on triangular algebras determined by action on zero products*, Comm. Algebra **46** (2018) 1859-1867.
5. E. Christensen, *Derivations of nest algebras*, Math. Ann. **229** (1977) 155-161.
6. W. Cheung, *Commuting maps of triangular algebras*, J. London Math. Soc. **63** (2001) 117-127.
7. W. Cheung, *Lie derivations of triangular algebras*, Linear Multilinear Algebra **51** (2003) 299-310.
8. Y. Du, Y. Wang, *Lie derivations of generalized matrix algebras*, Linear Algebra Appl. **437** (2012) 2719-2726.
9. B. Forrest, L. Marcoux, *Derivations of triangular Banach algebras*, Indiana Univ. Math. J. **45** (1996) 441-462.
10. C. Hou, D. Han, *Derivations and isomorphisms of certain reflexive operator algebras*, Acta Math. Sinica **14** (1998) 105-112. (in Chinese)
11. P. Ji, W. Qi, *Characterizations of Lie derivations of triangular algebras*, Linear Algebra Appl. **435** (2011) 1137-1146.
12. J. Li, Z. Pan, *On derivable mappings*, J. Math. Anal. Appl. **474** (2011) 311-322.
13. F. Lu, *Characterizations of derivations and Jordan derivations on Banach algebras*, Linear Algebra Appl. **430** (2009) 2233-2239.
14. F. Lu, W. Jing, *Characterizations of Lie derivations of $B(X)$* , Linear Algebra Appl. **432** (2010) 89-99.
15. Z. Pan, *Derivable maps and derivational points*, Linear Algebra Appl. **436** (2012) 4251-4260.
16. X. Qi, J. Hou, *Characterization of Lie derivations on prime rings*, Comm. Algebra **39** (2011) 3824-3835.

17. X. Qi, J. Hou, *Characterizations of derivations of Banach space nest algebras: all-derivable points*, Linear Algebra Appl. **432** (2010) 3183-3200.
18. S. Sakai, *Derivations of W^* -algebras*, Ann. Math. **83** (1966) 273-279.
19. P. Šemrl, *Additive derivations of some operator algebras*, Illinois J. Math. **35** (1991) 234-240.
20. M. Spivac, *Derivations of nest algebras on Banach spaces*, Israel. J. Math. **50** (1985) 193-200.
21. Z. Xiao, F. Wei, A. Fošner, *Centralizing traces and Lie triple isomorphisms on triangular algebras*, Linear Multilinear Algebra **63** (2015) 1309-1331.
22. J. Zhu, C. Xiong, *Derivable mappings at unit operator on nest algebras*, Linear Algebra Appl. **422** (2007) 721-735.

SCHOOL OF MATHEMATICS AND STATISTICS, XIDIAN UNIVERSITY, XI'AN 710071, P.R. CHINA.

E-mail address: leiliu@mail.xidian.edu.cn